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1.0ptions shown in green color with a tick icon are correct
2.Chosen option on top right of the question indicates the o ption selected by the candidate

Q1 ;m‘rérméfam’iﬁﬁﬁmﬁ;imgﬁqt1a:rm§?

Which of the fractions given below, when added to E, gives 17 Status :Answered
Chosen Option :3
Ans x 1

~ 2.
«3'1&
X4.§

Question ID :9864492962

BRI

Q.2 T woF T (Problem figure) % &1 7% a¥ur 7@ § & ofa #r wr a¥or
ofr g‘-—'rl Question ID :9864493856

Status :Answered

Chosen Option :3
Problem Figure

IR

Choose the correct mirror image of the problem figure if the mirror if placed to the right of
the figure.

Problem Figure

@A AE

A _J&
Y@@@%
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Ans

X 1A
X 2D
Xs3.C
v B

0.3

Ans

e A, B 3t c ot & gEw F w0 # wafvw € 3 A s o
gearta 73 CF 39 §.A BF WAV G e gem 2

Elements A, B and C occur as Dobereiner’s triads. If the atomic mass of A is 7 and that of
C is 39, what will be the atomic mass of B?

X 123
X 212
¥ 320
X 4. 40

Question ID :9864493394
Status :Not Answered

Chosen Option :==

Q.4

Ans

o g & s A A & 361 e I | afE e s e F eitan
38 : 1§ Frar i S s Sardd mmrar

There are saplings of 361 Mango tree and Neem tree in a garden. The ratio of the number
of Mango tree to that of Neem tree saplings is 8 : 11, then how many Neem tree saplings
are in the garden?

v 1209

X 2.152

X 3171

X 4. 57

Question ID :9864492545
Status :Answered

Chosen Option :1

Q.5

Ans

i et | 43 & R 7.5% T g7 ov mmamor s ov forder e
T o7 BT Bl 5 9% & R d@ar & 35 =we €375 30w gam s
# fder &1 o ofdr Reash o

A sum of money was invested at the rate of 7.5% simple interest per annum for 4 years, If
the investment was for 5 years, the interest earned would have been ¥ 375 more, What
was the initial sum invested?

# 1.7 4,500
v 2. 5,000
X 3.¥3,750
X 4.¥4,750

Question ID :9864492847
Status :Not Answered

Chosen Option :==

Q.6

Ans

4.0 Rrelmr Forl o avg R fufer & & | et a9 o @ =L3E
#ret Wi #ore & @ifey 9o 0 § | 99 @ RRam T g |

A body of 4.0 kg is lying at rest. Under the action of a constant force, it gains a speed of 5
/s, The work done by the force will be 2

L 205
~ 1.

207

50 AT
v o o
507

0w
r 53
307

03w
X a.
40 7T

Question ID :9864493302
Status :Answered

Chosen Option :1

Q.7
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o & wit H= Tt Fr v A @ R o S o o mw w aw F

o wA weEm?

Question ID :9864492952
Status :Answered

Chosen Option :3

Two pipes, when working one at a time, can fill a cistern in 3 hours and 4 hours,
respectively while a third pipe can drain the cistern empty in 8 hours. All the three pipes
were opened together when the cistern was ﬁ full. How long did it take for the cistern to
be completely full?

Ans .
v 2 e

2 hours
| 1w 45 fame
1 hour 45 minutes
L2 11 e
2 hour 11 minutes

425’%101?133

2 hour 10 minutes

x

x

X

0.8 Y Bw 7w R &1 3o 1 & & Pl vw # wleafia fear o &1 9 &
et 7 & wdr @ 5 gafase = e /B & 39 #5710

Question ID :9864493681
Status :Answered

Chosen Option :2

74
G el o

B

The below figure is embedded in one of the answer figures. Choose the correct figure
containing the below figure.

7

XsC
XA

Q.9 3if¥em Fr sfomey & FROT AT HTEIHT F AT AT T E
Odisha often faces natural disasters due to

Ans

o
X1

Question ID :9864492096
Status :Answered

Chosen Option :2

earthquakes
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Q.10 FrTaaE & & frwer Tamafers Tars & & Agcaet faaT $r rrTeT F35
Trarafee fareme 1 e @i e

‘Who among the following laid the foundation of chemical sciences by establishing two
important laws of chemical combination?

Ans Bﬁﬁ mq_ﬁ-_é'-
X1

Ernest Rutherford

AT

Democritus

x ; FEE T HBEE
' Joseph L. Proust

Antoine L. Lavoisier

x 2.

v

Question ID :9864493207
Status :Answered

Chosen Option :1

Q.11 A% 3x* + ax + 4, x- 5 ZAN Yo feew @ & a2 F A= B §7
If 3x* + ax + 4 is perfectly divisible by x - 5, then the value of a is:

Ans xl- - 12

X2-5
vs-158
X4-156

Question ID :9864492957
Status :Answered

Chosen Option :3

0.12 & & Ty #r By 7w AR Fwwt # B o & aEfT ¥ sawe e
chmm et a mdghgd

2]
bR

A B C D
The following figure is embedded in one of the four answer figures. Which figure contains
the problem figure?

=
<1

A B C D
Ans X;LA

v 2B

Xs3D

X aC

Question ID :9864493823
Status :Answered

Chosen Option :2

0.13

Question ID :9864492799
Status :Answered

Chosen Option :1
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felrt ger &y

—i{—45 — (—96) + (—32)} =2

Solve the following:

— {45 - (-96) + (-32)} =7
Ans “1_ 12
X 2.10.5
N 312
X 4.-10.5

Q.14 Tf 3 e 0T F et § R ey ¥ i o (3 orae) s over ¥, 7 ador
FIFT L
If you look into a mirror and find that the image (your reflexion) is smaller than you, then
the type of the mirror is:
Ans x THTS-3cddl S9uT
1.

plano-concave mirror

+ Hadeguur
r 93

concave mirror
. HHTA gIuT

plane mirror

@ . T

CONVeX mirror

x

Question ID :9864493364
Status :Answered
Chosen Option :4

Q.15 fameh Fegey 77 &, vF faest @ o€ # @R & Fwar ¥, FaE o
fnaws dieg U & 9 aE ¥ ¥W R F I = THAT &1 FHE T
97 i, faesy 3T fdws o @1y e S @9 0 Af 7S 9
foawes & et Pee ) dar & B & & B 5w e aa) get
#(mEm?

In a computer game, a builder can build a wall in ten hours while a destroyer can demolish
such a wall completely in fourteen hours. Both, the builder and the destroyer were initially
set to work together on level ground. But after 7 hours the destroyer was taken out. What
was the total time (in hours) taken to build the wall?

ans of 115
X 217
< 3. 24
X 4.35

Question ID :9864492869
Status :Answered
Chosen Option :1

Q.16 TF Teed T UH-GEL T 75° F 0TI R 78 THIEaHT A1 v Sy e & fore 7w
m?%wﬁi@nﬁﬁqmﬁﬁﬁﬁmﬁ#ﬁﬁmﬁ?ﬁwmm
o S Fr AT 3|

To draw a pair of tangents to a circle which are inclined to each other at an angle of 75°,
it s required to draw tangents at the end points of those two radii of the circle, the angle
between whom is

Ans X 1. 65°
X 2. 750
X 3.059

Question ID :9864492518
Status :Not Answered

Chosen Option :--
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W 2.105°

Q.17 IfE cot*0 + cot?6 = 3 B Al cosec*d - cosec?d =?
If cot*@ + cot?8 = 3, then cosec*d - cosec?d =?
Ans X 1. 2
<20
<31
v 3

Question ID :9864492897
Status :Answered
Chosen Option :4

Q.18 ‘ALY W& I TR B W &% I & ¥, AW & wees w1 ey
-1
‘Madhya Pradesh’ is related to ‘Diamond’ in the same way as ‘Kamataka’ is related to

Ans x 1 ;ﬁﬁr

Question ID :9864494114
Status :Answered
Chosen Option :4

Q.19

Question ID :9864494000
Status :Not Answered
Chosen Option :=-
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Ans

Jan feb mar apr may jun

jan- STl feb- HIEE mar- AR apr- 38
may- & jun- SF

fow o aied Aev-wafra A o miEE F 2017 F ywr 6 Fh F
AT X # g GOl Hr wew (g #) a9 §

T T F T T wet-wefee & ¥ o gh vewm e it &

T 7T HFE F HUT W, FA90 T 3 2017 F 2w, AerusEd &
HeATar ATRr MG & ST Fr aer I =

50
45
40

a5

35 7
30
15
20
15

Jan feb mar apr may jun

The given data shows the registration of bikes and total vehicles (in thousands) for 6
months in 2017 in City X.

Note: In the chart, the first number represents bikes and the second number represents
total vehicles.

Based on the given data, from January to April 2017, the increase in the registration of
vehicles other than bikes is F

< 1. 8000
/< 2. 9050
% 3.8500
v 29000

Q0 7qfEa+b+c = 0,d(a®+b*+ c*)* =?

Ifa+b+c = 0,then (a®* +b*+c°)® =

Question ID :9864492584
Status :Answered

Chosen Option :1

Ans X 1 3q2p2c?
v 2 942p2c?
X 3. 9abc
X 4.27abc
Q.21

Question ID :9864493694
Status :Answered

Chosen Option :1
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FF T waEE FEr w3k ol w T swa A & 78 wla @ aeee
g & &

T

AT YA FAAT AT F

HTAT.

1. YA FAT YA T AT A F T F e afaens g

2. YA TS FUET W 3 S & e & e st gfeens §

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
Public smoking 1s an offence under the law.

Assumption:
1. Smoking is injurions to the health of the person who smoke.
2. Smoke is injurious even to others health in the public places.

o 1 AR 2 gt AT @
‘Both 1 and 2 are mmplicit

Zara’HsﬁTErE?rZﬁﬁ%?r%

Neither 1 nor 2 is implicit

oo ITAA 2 Afea &
v 3. =
Only assumption 2 is implicit

dd JATATT 1 AfgT
X a. o, %

Only assumption 1 is implicit

x

Q.22 37 W famwew &t g Jt owafafea Aaer &t @ s

ACT, EGG, INK, __
Choose the correct alternative which will complete the series.
ACT.EGG,INK,
ans X 1. BYE
v 2 0LD
2 3 FUN
X «DIP

Question ID :9864493671
Status :Answered

Chosen Option :3

Q.23 9 =T TEFR F TRT T TR ArAr F AT AR T F A AR
I 2

Which state government has made yoga guru Ramdev Baba as the brand ambassador of
Yoga and Ayurveda?

Ans ghaToT
v
Haryana
x , 3 geer
Uttar Pradesh

x&i%ma?»r‘;%m

Himachal Pradesh

Question ID :9864492415
Status :Answered

Chosen Option :1
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AT

Ak Rajasthan

Q.24 #Y & 7T FUT F TA AS g€ T AT F [ HUSA F JUR T A _q
fret faffag v & @@ 1 "5 2

Fe:

it @ W § T # F e U A sl e ) sefee ¥
F A W ' € T =Y dFw A

s

1. UTHRT T T H ST Y27 e oiRw fr wree @ A e
T T 237 AT F w0 AT E
2. 71 # gfy = &= wfe afF s awnfd o i @ o

Consider the given statements as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:

People think that paying tax to the government is a burden and waste. Hence, they avoid
paying tax or don’t pay tax promptly.

Conclusions:
1. Government should create awareness among the people that paying tax helps to

build nation,
2. Tax should be increased so that more money is collected.

Ans xlﬁ?ﬁﬁém AT 2 Gl HFTET HA g
Both 1 and 2 follow.
forf fsey 1 3e[ER0T e B

Only conclusion 1 follows.

X 3.
o o ey 1 3l A & Y 2 argEver w €

Neither 1 nor 2 follows.

x o forsse 2 3rgERor e 2l

Only conclusion 2 follows.

v

Question ID :9864494093
Status :Answered
Chosen Option :2

Q.25 WET Tl H g W= HET HHOT JAT HT T T gl

The main cause of rancidity in foods is the of fats and oils.

Ans E@ﬁﬁq
X

hydrolysis
y e
2.

oxidation
3. Q

clarification

x

Question ID :9864493629
Status :Answered

Chosen Option :1
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3dhIUT

reduction

X

Q.26 Fi T 3ca< = (Answer figure) T 7T T9a R (problem figure) F1 wEr
For afafaa 7

A B C D
Which of the Answer Figures is the correct water image for the given Problem figure?

Problem Figure

%

Answer Figures

< 3B
X 2D

Question ID :9864493962

Status :Answered

Chosen Option :1

Q.27 A X, ‘A’ faig & T amer Fraw § 9f¥aw & 3y 80 sadrer wwr & qur
a§ AR oz e §, R 50 Rty wear § st B fig wT odw s #1 A
#k B figat & mew # wgEw gf B B2

Mr. X starts from point ‘A’ travels 80 kin towards west, takes a left tum, travels 50 km
and reaches point ‘B’. What is the shortest distance between points ‘A’ and ‘B*?

Ans - X 1.104/93
2 2.10v39
# 3.104/98
v 41089

Question ID :9864493662
Status :Answered
Chosen Option :4

Q.28 T TN H 25 FEH! &b wrargaAl @1 A 150 om AT 3 waw # 35wt Fr st
T AT 145 om &) FaT A T 60 Frgznfiat $f Fardal s aged Ay e
ICGEIFE

The mean height of 25 boys in a class is 150cm, and the mean height of 35 girls in the
same class is 145 cm. The combined mean height of 60 students in the class is

___(approximately)
Ans X 1.143

X 2.145
X 3.146
 2.147

Question ID :9864492637
Status :Answered
Chosen Option :4

Page - 11




Q.29 f=iaf@ia # & #la aed s[ur & T dive Fa% F1 F4 Far ¢7

Which of the following serves as a nutritive tissue for the growing embryo?

Ans I

Question ID :9864493337
Status :Answered
Chosen Option :4

X
Ovule

| 3R
Ovary
TUSIETH

. Endosperm
JIAAS (Zygote)

r
Zygote

X

v 3

Q.30 f2r 71T fwedl # ¥ W WATT JE F TS F{

ag¥ : gutdr

Question ID :9864493804
Status :Answered
Chosen Option :4

Choose the correct analogous word pair from the given alternatives.
Carpenter : Hammer
Ans et : et
X
Crane : Builder
. U AEh
~ 2.
Computer : Writer
GEEUCEMRIC]
3.
Plumber : Wrench
Toﬁla . ThEERT
. Axe : Logger

X 4

0312016 # Jlefe Tel HiT T @ H 3T gT o2
The 2016 Olympics was held in which city?

Ans ﬁﬁq:r

Question ID :9864492209
Status :Answered
Chosen Option :3

X
Paris
AfeEerr T8
Koo
Mezxico City
Vs far & =i

Rio de Janeiro

+

X a. :
London

Q.32

Question ID :9864492599

Status :Answered

Page - 12




ﬁl}l?[ gﬂ El—ﬁ' l Chosen Option :1 J

25— [BB—a{AG—(E5 =132}

Solve the following:

37 -8B = {46~ (15-—1F — 2]
Ans o 1 35
< 231
< 3.29
X 430
Q.33 ‘Farfawe # Afedar A v i 3t Emer & @7 gf A o R

R A T AT W AT Y R W R Question ID :9864492127

The ‘Kathopanishad’ captures the conversation between a young boy named Nachiketas Status :Answered
and a god. Which of the following gods is talking to Nachiketas? Chosen Option :1

Ans HIdA IH
: Lord Yama

x , EiC]
Lord Shiva

| ST =g
Lord Indra

| S CRILC
Lord Karthikeya

x

x

Q.34 20.0 cm #Y T & TITAT AT U Haqd GUUT HT BIFHH 31 g

The focal length of a concave mirror with a radius of curvature of 20.0 cm is:

Question ID :9864493063

Status :Answered

Ans X1 15 cm Chosen Option :2
< 2.20 cm
X 3 5cm
v 210 cm
Q.35 f&an 7 37 3w 37 o # g § S Rftew sie @ w § e
HTER, AU 2 WISTC &t e aTe oTst & Fa T ¥ Question ID :9864494085
s Status :Answered
Chosen Option :1
English ‘A‘ Hindi
(Y0
Tamil

English - 33 Hindi - 4" Tamil - aif@

The given Venn diagram represents the students who can speak different languages.
According fo i, the total number of students who can speak exactly two languages is

ngiish q&k Hind

Tamil

Page - 13




Ans I L+M+0
K2N+ L
X3L+0O
KasL+M+0O+N

036 Iz & FgT H gHAT & 2
A battlefield always has:

Ans v a7
Arrows
2. cAl
Elephants
T
> Chariots
X 4 e

Soldiers

Question ID :9864493824
Status :Answered

Chosen Option :4

Q.37 Ry wams & A woEl F Svea 20 m?, 32 m? K40 m? ¥ wA F ImaE
e &7

The surface areas of three faces of a cuboid sharing a vertex are 20 m?, 32 m? and 40 m*.
What is the volume of the cuboid?

Ans 92 m?
X
92 m?

_ V3024 m?
X 2.

V3024 m?

160 m?
3

160 m3
184 m?
4

184 m?

v

x

Question ID :9864492854
Status :Not Answered

Chosen Option :==

Q.38 5 mis & 7fF ¥ aifaelier 22 kg a9 awr g #F AT 39 FeaE @i

An object with a mass of 22 kg moving with a velocity of 5 m/s possesses a kinetic energy

of:

ans o 1275
<2110 J
231100 J
X 4.2750 J

Question ID :9864493480
Status :Answered

Chosen Option :1

-2 forrmfaf@a # & #la a1 v v e B2
Which of the following is a reducible fraction?

3 21
Ans R
15

XZ?Q

‘26

Question ID :9864492442
Status :Answered

Chosen Option :3
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Ta7

Q.40 Gu-E & wak fRHOT 1 AT g ¥ fReor By Fw AT 21 e @ afx
sad 4 et o sl B R sme & Bsor & qu w st Fw ow
FRET?

Eofa milk-water mixture was milk. There was 21 litres of the mixture. If 4 litres of water

Question ID :9864492786
Status :Answered
Chosen Option :1

is added to it, the percentage of milk in the new mixture will be:
Ans X 1 44
\f 2. 56
X 314
X a1l

Question ID :9864493866
Status :Answered
Chosen Option :4

Q41 gieera 7R (Problem figure) #r T Ster ofF Fr T
Problem Figure
Answer Figures
A B C D
Choose the correct water image of the problem figure.
Problem Figure
Answer Figures
A B C D
Ans x 1.D

X 2B
X3 A
vaC

Q.42 T WIEE Wed [EEN W A F Fgeaqy v syeey & v fear

ST §?
The Dadasaheb Phalke Award is awarded for significant public achievement in which
field?

Ans J . ﬁm:r
Films
EECAIEGI

Journalism

X o

Question ID :9864492334
Status :Answered
Chosen Option :1
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X 3. 3
Literature
\ T
' Sports

Q.43 _261+(—380)—(—521)+821—(—121) & A &
The value of —261+(—380)—(—521)+821—(—121) is:
ans X 1800
< 2825
v 822
X 2833

Question ID :9864493884
Status :Answered
Chosen Option :3

Q.44 e FHZFEL T IR T AT 21T 87
The resistance of a conductor is inversely proportional to its:
Ans RIEEIGE
1.
temperature
. Sfareesar
- ES
resistivity

HATE AT T STTFoT
s °

area of cross section
X a.
length

Question ID :9864493546
Status :Answered

Chosen Option :3

Q.45 WETaE-T ¥ Heamur ¥ forv frsfaf@a & & Fr s ¥ ?
Which of the following is essential for the synthesis of thyroxin?

A o, TR

Potassium

Question ID :9864493316
Status :Answered

Chosen Option :4

Q.46 Uer TieT & TeT IT SIS T ENT fohT HNUT SadT & -

The girth of the stem or root in plants increases due to:

e g, oI ARECH

Lateral meristem

Question ID :9864493295
Status :Answered

Chosen Option :2
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x 2.
Intercalary meristem
X, TEaE ANECH

Extra meristem

xduﬁaﬁrﬁﬁm

Apical meristem

Q.47

Ans

for 7T weF F caeEE W i At R rmem s am F B
r=afaT st & @ Stw agrea 88

P, Q, R, S 3T T # wa® &5 == e 27

FUA:
lLaFITFT PR ST FAE WS HIT T ¢
2RE T QU HOF ¢ T =A

Consider the given question and decide which of the following statements is sufficient to
answer the question.

Who among P, Q. R, S and T is lightest in weight?

Statements:

1. Qweight <P and 5 also S weight > T
2. Rweight>Qbut<T

~< 1
Fad FUF 2 AT ¥ FaF FaT FUT 1 39T §

Statement 2 alone is sufficient while statement 1 alone is insufficient
v, T 3T Fua 2 g AT &
Both statement 1 and 2 are sufficient

3_mm13ﬁtmm2w‘ﬁr%

>
Neither statement 1 nor 2 is sufficient

r 8
FadT FUT 1 TAT ¢ FAF FaAT FUT 2 FIAT £

Statement 1 alone is sufficient while statement 2 alone is insufficient

Question ID :9864493840
Status :Answered

Chosen Option :1

Q.48

Ans

Rfaee 3 & #a @ a1 S Ao F FaRE Al ¥ 2
Which of the following metals is stored in kerosene o0il?
X

Platinum

GICH]
Copper
wfETH
Sodium

AT
Gold

X o

v s

X a.

Question ID :9864493251
Status :Answered

Chosen Option :3

0.49
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e & ard anforer F Faw 10, wgaeT A 3 B A memefd s wuE o
# 9ET O T oTE & TEw & e 2
FFET A H o w1 WA (vF geE it %) e 82

Question ID :9864493819
Status :Not Answered

Chosen Option :==

FfomT I | AT B
A
gt gftemst & v 28 23
i it
& Fo FE=
AeaEfy gfteT # 14 12
T AfaT T
giem & 9w
it & 3o
T

memmafer ofter & 6 17
oIH wfed 5T
ifem & e

Rt & go
HET

2=t afenst F 9w | 64 55
B T Reafiat

& Fo wEA

The following table gives the details of the number of students in Class 10 section A and
B who had taken mid-term and final exam.
The percentage of students in section A is (round to one decimal).

Result Sec A Sec B
Total number of 28 23
students who failed in
both exams
Total number of 14 12
students who failed in
mid-term but passed in
finals
Total number of 6 17
students who passed in
mid-term but failed in
finals
Total number of 64 55
students who passed in
both the exams

Ans X 1 51
v 2 51.1
<3513
X 4512

050 ey F AT FEIAN & Rrar FErreT 97
Which Indian Chief Minister’s father was a ‘Maharaja’?

Question ID :9864492287

Status :Answered

Chosen Option :3

Ans  EIFETY A1AE
x 1 o Y
Chandrababu Naidu
&ag FEAaTT
Devandra Fadnavis
. Ig9rET 9

K Chandrasekhar Rao

X 2.

r 53
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4 ; ﬁ?

v
Amarinder Singh

Q.51 o wfie e afFw =1 37 3o ‘gow gEw ¥ v =w s 2017
& I Ty

Which eminent Hindi writer was chosen for the Vyas Samiman 2017 for her work

‘Dukham Sukham’?
Ans __ ATHAT W

r 0
Namita Gokhale

X2 =T FETATHT
‘Meena Kandasamy
ST el

X3 2
Jhumpa Lahiri

v, FE SHITergT
Mamta Kalia

Question ID :9864492393
Status :Answered
Chosen Option :2

Q.52 farel Pyt # wwaAroT & aTelr & H=C Fr 3 cm IR 4 cm T F FW
B & 9fge @1 e ww T gem?

The two sides holding the right-angle in a right-angled triangle are 3 cm and 4 cm long.
The area of its circumcircle will be:

Ans x 51 cm?
1,

51 cm?
71 cm?

X o

71 cm?
. 6.75T cm?
X 3.

6.751 cm?
6.25m cm?

6.251 cm?

v

Question ID :9864492754
Status :Answered

Chosen Option :1

Q53 Ty FRERT [EHR 2017 frwsr shar g2
Who won the 2017 Hridaynath Mangeshkar Award?

Ans g HER
v
Javed Akhtar
x> 3T e
Asha Bhosle
; ETAT HTAAT
. Shabana Azmi
HITH W

x

X a.
Anupam Kher

Question ID :9864492221
Status :Answered

Chosen Option :4

Q.54

Question ID :9864493328
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atrTE ¥ e 49 W T & aeee & ST, aee T & @ Fm
AT BT

To convert temperature from Celsius to Kelvin scale, you must:

Ans x T =1 A= @ 273 ¥ AT HL
1.
multiply the given temperature by 273

| few e a7 273 S
add 273 to the given temperature

| T are qromm @ 273 @ R #Y
divide the given temperature by 273

feT 71w qoEE # ¥ 273 merw
4.
subtract 273 from the given temperature

v

x

X

Status :Answered
Chosen Option :2

Q.55 2 kg % T SEAAT ATl a%g FIT A AT 20 mis &F GHIHE 37 F HR ST E 2
Uehs 18 FEE I Tt Rhett 1917 (2= 10 m/s?)

A body of mass 2 kg is thrown upward with initial velocity of 20 my/s. After 2 seconds. its
kinetic energy will be: (2= 10 m/s?)
Aans X 1,100 J
207
234007

X 2.2007

Question ID :9864493142
Status :Answered
Chosen Option :3

056 &y 715 A s A ¥ e = &

A F I Z L

1 2 3 4 5
Select the odd figure out of the following figure series.

A F I Z L

1 2 3 4 b5

Ans X 1 4
< 2.1
K32
v 5

Question ID :9864494284
Status :Answered

Chosen Option :1

Q.57 3T T W F&Y 1 F M 3R, 79 2 F N g3 g5 e § s

¥ %8 3T A F, O 9 WAT 21:.00 v Y, 6T A ogE e 9T
gl
If the number 1 on the clock is replaced by the letter “M”, the number 2 is replaced by ‘N*
and so on, then when the time is 21:00 p.m. the hour hand will be at letter.

ans X 1S

Question ID :9864493880
Status :Not Answered
Chosen Option :==
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v U
F RV

058 &Y 15 HETT Mol H HFUTPAT Ug T8T

BGL, DIN, , HMR

Find the missing term in the letter series.

BGL, DIN, , HME
ans  of 1 FKP

X 2 FPK

X 3. EJO

X 4.GLQ

Question ID :9864493721
Status :Answered

Chosen Option :1

Q.59 T 3R FHw v Wy fAwET B A 18 RE F e e § ey
@ g FE F 3ES A § AR oF e w1 o = w1 o1 & gl
THS ae AT FA F P T T & §H GHN 2l Fewt 9 F 40
fom & oo & T {1 ofy Am wwer @ ey S ¥ F HT o A ey
A A G # W w1 F FEeT w4

Sharan and Mayukh, working together, can complete a task in 18 days. However, Mayukh
works alone and leaves after completing one-third of the task. Then, Sharan takes over and
completes the remaining work by himself. As a result, the duo could complete the task in
40 days. How many days would Sharan alone have taken to do the job if Mayukh had
worked faster than Sharan?

Ans 'fl. 45
< 230
X372
X 424

Question ID :9864492809
Status :Not Answered

Chosen Option :==

Q.60 v S B e wr et Rw v Fumy 7 FHET e T ¥

FUA:
TSA Faw Yo wefear F ol T F | X geX §

o=

1. X T B Ay S

2. X TS W Al S Sl
Decide which of the conclusions logically follow(s) from the information given in the
statement.

Statements:
Politicians marry only beautiful girls. X is beautiful.
Conclusions:

1. X will marry a politician

2. X won’t marry a politician

Ans - dael fTswY 1 JEoT T 8
1.

Only conclusion 1 follows
aeT Ty 2 3eEToT T 7

Only conclusion 2 follows

X 2

Question ID :9864493800
Status :Answered

Chosen Option :1
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Ir o 1 TT 2 FEIOT FIT &
v s 2

Either 1 or 2 follows

1 3R 2 A g = &
4.

Both 1 and 2 follow

X

Q.61 FE FTHA MY F M - Tt ST & ¥ orew B A WY v F ¥ ow
&I A I i=ar - Tor GEAT A g Wi 9gd A, I e § TR 6
are dr 3y @M AN I A g

Three-fifths of my current age is the same as five-sixths of that of one of my cousins’. My
age ten years ago will be his age four years hence. My current age is years.

ans X 1. 55
< 2. 45
# 3.60
v 2. 50

Question ID :9864492973
Status :Not Answered

Chosen Option :=-

Q.62 'Wisr & & fife ¥ wafUT & 39 'wUE o HgEfoT

‘Food’ is related to ‘Refrigerator” in the same way as ‘Clothes’ is related to

Ans m
r 0
Garage

3TTATLT
Closet
de

X 3.
Fold

TTHEAT
Material

v o

X

Question ID :9864494164
Status :Answered

Chosen Option :2

Q.63 T H & et W THid & F3 kel AT aral &7
Which of the following never occurs singly in nature?

Ans X1 S5
Inertia

del

v
Force

X 3 ;
Momentum
T

X a.
Velocity

Question ID :9864493519
Status :Answered
Chosen Option :3

Q.64 F=r &Y TS FEAHT A ¥ FiF O afT
TEAT G 87
Which of the numbers given below is NOT rational?

Ans x 1. \[6_4

Question ID :9864492904
Status :Answered

Chosen Option :4
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X 2.3/64
< 338
vy

Q.65 Tr=afaf@m ¥t & ¥ =tw o dw aurty TUF # 3o 78 2
Which of the following gases is not generated in a biogas plant?

ans o 1.CO
< 2. H,S
< 3.CH,
X 4.CO,

Question ID :9864493605
Status :Answered

Chosen Option :2

Q.66 ST I g8 ST F1 A8 Ta18T fegis Rt Sreey & w=o 9eF e
& 5% 2017 & Tl & wEATTeT SR T B

Name the Indian paralympic high jumper who won gold at the Rio Paralympics. He was
awarded the Padma Shri in 2017.

Ans FE TR
X
Narender Ranbir

o  JTOTHTEY
X 2.
Varun Bhati
3.
Mariyappan Thangavelu
, g SR

Devendra Jhajharia

v

X

Question ID :9864492340
Status :Answered

Chosen Option :3

Q.67 STHCT AT el ATeM Tgell Gef HleT AT AUT?
Which was the first country to introduce GST in its system?

Ans x . m

Canada
v o ks
France
r 53 s
Australia
ST

X a.
Germany

Question ID :9864492218
Status :Not Answered

Chosen Option :==

Q.68 FeilleT AW F7 FwANT T H ¥ fovwd Ao F Bewr I T

Chlorine gas is used in the manufacture of:

Ans gfEer ur3ET
1

X T
Baking powder
. afeeT drEr
X o
Baking soda

Question ID :9864493590
Status :Answered

Chosen Option :4
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v SellfereT 938
. Bleaching powder
eTg e
Xa ?
Washing soda

Q.69 I frcerar & aTTY] FEwr 36 &, A 3w ForEliaE Reara g

If the atomic nunber of Krypton is 36, then its electronic configuration is:

Aans X 1.218.16
v 2.2.8,18,8
X 3.2.188.8
< 4.2.8.20.6

Question ID :9864493293
Status :Answered
Chosen Option :4

Q.70 T W wuYEw faw #Y AR fviw wt @ swet A T w @ wge
A &

o
7 TN 94T BEST & a9er f0w & 10% @@iad e &0 hagem fmam 3

A
1. I BEST &% A &9 & &A fore areh s @l &1 fweT 99 vt

4
2. o g & o o @@ Tt S FEw wEe S & @ ® war B
Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
The BEST bus travels company has decided to increase its fare by 10%.

Assumptions:
1. Passengers may opt for other buses costing less than the BEST bus travels company.
2. The demand for the buses by passengers may remain unchanged even after the fare
hike.
Ans v 1 3t 2 S=r AfgT &
1

'Both 1 and 2 are implicit
e AT 2 PAfga &
X 2. =
Only assumption 2 is implicit
Fae g 1 AT &
3.

Only assumption 1 is implicit

4.HFﬁ-13'ﬂTHﬂ2ﬁl'%H%

Neither 1 nor 2 is implicit

X

x

Question ID :9864493720
Status :Answered

Chosen Option :3

Q.71 %750 #r FRfE vfr w3 Afw F T 715 Bl 9 S @uRer s @ e
T 37

T 750 invested for 3 months gave an interest of ¥ 18. What was the simple rate of interest
per annum?

Ans X 1.2.4%
v 2 96%
e AR iL
X412%

Question ID :9864492827
Status :Answered
Chosen Option :2
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@72 faT T wA A, e B # T3 w: T Question ID :9864494161

Status :Answered

Chosen Option :1
Ko X Kee X }f
(a) (b) (c) (d) (e)
Select the odd figure out of the given series.
X ;( Kew X ).(
(a) (b) (c) (d) (e}
Ans « 1. (c}
< 2 (a)
X 3.(d)
< 4. (b)
073 &y g 3”@%' # fohas ﬁﬁﬁ' &2 Question ID :9864493860

Status :Answered

Chosen Option :3

How many triangles are present in the following figure?

Ans X 1.12
< 215
v 314
X 213
7 3 - a; Ll ;- [ g‘-ﬂ Question ID :9864493272
Metals reacts with acids to give: Status :Answered
Chosen Option :2
Ans
X, T 3T FaRAT
A salt and Chlorine
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oIauT 3R &R

x>
A salt and base
., 3R g
A salt and Hydrogen
x , @ AT g=T
A salt and water
0.75 A2 enferer & ar AT ofr e Bt soa=a & e ,
Question ID :9864493638
If is involved, even greater diversity will be generated.
Status :Answered
Ans v m Uddd Chosen Option :3
sexual reproduction
EIE?-I'ﬂ' IGLCEG]
bmary fission
5 AT deh SeleT
vegetative propagation
x4 A F Ut T
asexual reproduction
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